DG Flugzeugbau GmbH
76646 Bruchsal

Subject

Effectivity

Accomplishment

Reason

Instructions

Material

Weight and balance

Remarks

Bruchsal, date:
June 27", 2002

Author:
Dipl. Ing. Wilhelm Dirks

Service Info page 1 from 1
No. 48/02

Repair of the connection of the starter ring gear to the adapter for the lower drive
belt pulley

DG-800B all serial No.’s
DG 500MB all serial No.’s

If a damage is suspected, e.g. a bolt head found in the engine compartment

: In some cases the bolts which connect the starter ring gear to the lower drive belt

pulley adapter failed. The sheared off bolt head have been found in the engine
compartment, see photo 1.

A repair method is given herewith to repair the existing part for a durable
connection.

Photo 1: bolt head which has
been sheared off

12 mm
0.47 in

Search for bolt heads prior and after each flight.
If such part was found. the engine should not be used any more to prevent from
further damage.

Repair the connection according to working instruction No. 1 for service info
48/02.

N =

: - Working instruction No. 1 for service info 48/02

-1 box Araldite AV119 (100g)
- grinding paper 60 grit
- 5bolts M6x12 DIN7991-10.9 DAC
- Acetone
tools: various
+ to pull off the lower drive belt pulley
1 flange bolt (incl. in SOLO tool kit)
1 puller assembly W40 (drawing encl. to the maintenance manual) with
1 bolt M 12 x 90 DIN 933-8.8 and
4 bolts M5 x 20 DIN 912-8.8

. influence negligible

All instructions may be executed by the owner if he is experienced with such type
of work.

All instructions have to be inspected and entered in the aircraft logs by a licensed
inspector with the next annual inspection.



DG Flugzeugbau GmbH Working instruction No. 1 page 10f 3
76646 Bruchsal Service Information 48/02

A) Disassembly

1. It is not necessary to remove the powerplant from the glider to remove the starter ring
gear.
The following work has to be done according to the maintenance manual instructions:
Remove the engine doors see sect. 4.17. Place a wooden plate over the engine bay on
which the engine may rest.
Disconnect the spindle drive from the engine see sect. 4.16.1 item II) 11) (page 66) (It is
not necessary to disconnect the gas strut).
Remove the proximity switch with its mounting plate, mark its position on the
propellermount prior to removal.
Loosen the drive belt according to sect. 4.11. a) (it is not necessary to remove the
propeller).
Remove the complete assembly of starter ring gear with adapter and lower pulley see
sect. 4.16.2 item 3).

2. Remove all 5 bolts which connect the starter ring gear to the adapter for the lower drive
belt pulley

B) Assembly of the starter ring gear to the adapter

1. Remove any remains of the red paint from the contact areas at the starter ring rear to the
adapter and from the countersink bores for the bolts, paint can be dissolved with Acetone.
Check the adapter too. Correct any deformations or burrs so that the contact areas are
flush.

2. Mark the contact area at both parts and grind the contact areas with grinding paper 60 grit
see drawing 1. Remove any dust and clean and degrease the contact areas with Acetone.

3. Apply the adhesive Araldite AV119 with a small brush to the contact areas and into the
threads. Press both parts together and screw in the bolts until there is a gap of approx.
Imm between the bolt head and the countersink bores. Fill the gaps with Araldite AV119
and tighten the bolts crosswise with a torque of 12 Nm (9 ft Ib).

4. Cure the whole assembly for 1 hour at 150°C + 10°C (230°F +18°F) for example in a
baking oven. Allow the part to cool down slowly, e.g. let it in the oven until the oven has
cooled down.

5. When the part is cooled down file or grind off the excess bolt ends until they are flush
with the flange. If you use a power grinder be careful not to heat up the part. Grind several
short times and allow the part to cool down in-between.



DG Flugzeugbau GmbH

Working instruction No. 1

page 2 of 3

76646 Bruchsal Service Information 48/02
Bild 1
drawing 1
1. Vorbereitung zur Verklebung
P . .
reparation for bonding Starterzahnkranz
/ Starter ring gear
| \
1 \ 1 | :
1 \u ‘\ 7 T
[ i |// fa 1 i L N\ \I i ]
| ‘ ‘ Aufrauhen ‘ ‘ ) 1
! grind i, Adapter mit unterer
AL_lfrdauhen N " Riemenscheibe
grin r\\ L I Adapter with
| LI ‘ PTL /|
@T‘T\I;H- / | % —— lower pulley
N \ Z (NI
.27 . |
| | |
\\E \ E \
1N i} \ =1
H 1 N
e B : B
g o WA
| |
Bild 2
drawing 2

2. Klebstoffauftrag
Application of adhesive

5 Stk Schraube M6x12 DIN 7991-10.9 DAC

5 pieces bolt

Adhesi Starterzahnkranz
esive | Starter ring gear
! A i | |
H====: = f s &l
j T
! | ‘ Adapter mit unterer
\ / Riemenscheibe
Klebstoff !
Adhesive \ | ‘ ! Adapter with
‘ ; gg ‘ lower pulley
‘ ‘ ! 7D
T TH | N
Schraubenenden nach dem L | L
Aushérten plan abschleifen i Q | ﬁ\ i
after curring remove excess bolt ends | [~ ‘ N
until bolt ends are flush with flange | | |
INE \ =
H : ISt
| == 1 =~
g o g
| |




DG Flugzeugbau GmbH Working instruction No. 1 page 3 of 3

76646 Bruchsal

Service Information 48/02

C) Reinstallation

1.

When reinstalling the starter ring gear adjust the propeller position versus the engine
compression point according to sect. 1.11.4 via the drive belt.

2. Install the screw at the crankshaft without using Loctite and tighten with a torque of
100Nm (73 ft Ib).

3. Tighten the drive belt according to sect. 4.11¢).

4. Reinstall the proximity switch and check its adjustment according to sect. 1.14.15 and
correct if necessary.

5. Reconnect the spindle drive.

6. Rig the wings to the fuselage and secure the glider. Start the engine, apply full throttle for
a short while (max. 30 seconds) and stop the engine again.

7. Retorque the screw at the crankshaft with 100Nm, to accomplish this the spindle drive
must be disconnected again.

8. Start the engine, apply full throttle for a short while (max. 30 seconds) and stop the
engine again, retorque again. Repeat this procedure until the screw can’t be turned any
more with the same torque. Normally it is necessary to repeat the procedure 4 times.
After the last retorque remove the screw, apply Loctite 243 and torque again with 100
Nm.

9. Install a new selflocking nut M10DIN985-8zn to the spindle drive bolt.

10. Check if the propeller position versus the engine compression point is still in the limits. If
necessary correct according to sect. 4.11 f).

W. Dirks

June 27. 2002



